CCCCCCC

Academy
—GED—

— 12 LEVEL —



https://www.youtube.com/live/aVXNPzoCVAs?si=l2MnHZgH18uDOr_K

! The: reasction) wtich

1 catsl :
(A)  reversithe Henstysed by the pridues fnmadmentiod _______ reution.

(©)  biochemicat ) mensisys

() Ouestion; nun atetrgpned W3y Gihaemrnmen

7 A Exats i Ay g

(Ay TExfer Wmmym o ‘mmu
(Cy Fwrephes (41 wwnpson

! ¥
erit

Academy

T i 5o e A v b, 1 e T i a1 e b

(©) Mammﬁmm‘f’;mﬁﬂ“mmm

(1) mt&umhmm,;mh
(Ey aqtrauzg
91 s 2 (P.T.0.

youtube link



https://www.youtube.com/live/aVXNPzoCVAs?si=l2MnHZgH18uDOr_K

SR e L s S RS

From the top of a clify which is 90 m high

the angles of depression of the 1op and bottom of a tower are
observed 10 be 307 454 or- respectively,

What is the height of tower?

E 9 .#ﬁag,-.;, i g -
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v
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Choose the most appropriate Op

9 U
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(C) the,the O (D) the, x o~
(E) Question nammpwd Sl
9| A 3 ™ [ PT.O,

_youtube link



https://www.youtube.com/live/aVXNPzoCVAs?si=l2MnHZgH18uDOr_K

10

11

Choose the most appropriate option to fill in the blank:

Ineedtobuy _ eggsbutlhaven'tgot____ money to pay for them,
(A) some, any (B) any, some

(C) all, little (D) few,alittle

(E)  Question not attempted
Who appoints the chief secretary o

(A) Prime Minister
(C) President

Nakodaji Temple

(E) Question not attempted
TeregT &1 foreft TR o wfva i e smar 22

(A) TG ¥E AR ®) g e
(C) T wiear wf=t (D) #ft s ft iz

(E) Iigafa wd
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15 Who imposed Chanwgri Lx on 1he farmers of Bijolia in 19039
(A)  Iao Krishna Sing), (B)
Jagirdar Prithvi

() Sadhu Sitaram Das
(D) Maharana Fateh Singh

(1) Question not attempred
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(O. No. 30 to 34) . b fenwe Research and Atomic Energy, Dr. Kalam foy, thiay
While working in !I‘w csslai)lmllmcms.; of -“-P:nlcc I)L: Ll cre present here, in plenty. One common feaqy. Wi
the best human hgiﬁwi and the most mrmvutl'w: minds wf. not afraid of failifes during their pursuite ht;cmm:
also found in all g;w’scicnli.‘ilﬂ and lcc""”l"gl"dﬁf ”",:y wuc- ing, which could lead 1o better lct.‘hlll}ln;.:y and
ailures contained within themselves the seeds for further learning, : O s
failures cont ""_" h:i' o] of success. These people were great dreamers and their dreams finally culminate in
ch-ﬂlUd”]Y “') I-I}llsi;&_\;;r::nm."I'aki;ilg account of the umﬁl:incd technological strength of all theye scientific
.‘,pu,t‘u,.u ar ‘.u. o . _ found in the developed world,
institutions, it wotld certainly be comparable to the best fo ‘ o steengthen it First, by buj| fi
Regarding personal frecdom, Kalam is said to have adopted two techniques 1o streng l" o ' 5; . Hding
one’s own education and skills — knowledge is the most precious tool; the more tip.to-datc .mw‘v cdge ‘m_t
possesscs, the frégf one is, A leader can only be free to lead his team, if h'c keeps abreast "" all that j
happening around¥im. To lead is in a way, to engage in continuing cducals.d_n. I'he m:com‘l way, i (o ﬂcvclf:p
a passion for pcrﬁ&l}ul responsibility, by way of taking on rcHPODRI!?IIIly'IO W(frk for lh(i things you bc‘ iwtj fn.
If 'you do not, yatywould be surrendering your fate to others. Historian [%dllh Hamilton wrote of ancjen

. * e — :
Greeee, “When the freedom they wished for most was freedom from rcsponq}bllny, then Athens ceased 1o he
free and was neveP free again. The truth is that there js

frecdom. We can' combat the forces that threaten 10 opp
and conditions that promote individual freedom,”

Dr. Kalam is nefiHer an orthodox nor a conservative religionist. He has a scientific temper blended with
spirituality. l)raﬁ?g an analogy between science and spirituality he s:nysf.*"Wlliic scicnee has a hfabil of
questioning, spirituality is bascd on known principles; both of them lead onc16 seek truth.” e is an individual
filled with humanism and loved and renowned by the entire nation, without z?n‘)lr barricrs of age and community,

“India must slmﬂ*hp to the world because | believe that unless India stnnqs up to the world, no onc will

respect us. Only Sttength respects strength.” So said Dr. Abdul Kalam, the nuclear scientist who developed
and structured India’s missile arsenal. He be

longs to the world of nuclcar weaponisation and has supported
the nuclearisation of Indja consistently,

a great deal that most of us can do to increase our
ress us. We can fortify ourselves with the qualities

According to Dr, lam, the element that was
(A)  They werebest in the world

(€) " They werERiot afraid of faiture

(E) Question E}l attempted

According to Dri_l{alam,

ists and technologists was:
(B)  They had speclz{f_qblar achievements
(D) They were grczéli;ércamcrs
Y
donly when 7,

personal freedom can be achicve
a. You empower yourself with knowledge
b. You free yourself from

all responsibility
C.

for personal responsibility,
d. You dcvq},pp courage to be responsible
Choose the mostdppropriate
(A) a,bangd L%ly

(C) b,dand zg!-aly

You dcvcéc_»‘p a passion

for the work you believe in
oplions given below:
(B) b,candd only

(D) a,cand d only |
(E) Question pgt attempted ;
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37 Where is the Central Institute of Arid Horticulture located?

5 (B) Jalore
:2; E::::;W (D) Shriganganagar
() Question not attempted
A 3y, AT dears v o feaa B2
(h) fatgm (B) W
(©) (D) AT
() #qafiagy
3% Where is National Institute of ¥

(A)  Jodhpur
(C)  Jaipur
(£)  Questic
o k™
(A)
(

A)
(&)
r)
41 115" February, 20
(/) Thursday .
(C)  Saturday (D) Sunday
(1) Question not attempted
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42 Take lhelgwen -statements 1o be true even if they seem to be at variance from commonly known facts.
Then decide which of the given conclusions logically follows from the given statements.
Statements:
No paper is car. &
All cars artglarker. lcf?l
Some marw are erasers. O
Conclusions: (o | o}
I SomCears are erasers is a possibility. N
Il.  Soni¢papers are marker: @
(A)  Only concluSion I follows o
(©) '
(E)

43
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( A) 45° g} (B) 65° 0\

© 1 @ & B
(E)  Question nptattempted / ST T
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il *rs in pre-reproductive stage is less than the Nimbey
Select the status of population where number of members in pre-rej
in rcpmducti:is s:ngc: ——
=, Ir;"p:"". = (D)  Stages not affecting each other,
(©) ecliming
: st L attempted . ‘ - )
= Q;;“;’;;'m’ o ;;;.;—,Tﬁﬁqu{@ el SIS TR ATt wewit o) dE wse ey gt i a i
STHHET
(A) wart (B) wgrft
(C) BEH (). STt weh e why wifere =t wpedt )
(E) orgafa vy . | ' .
‘A, B CL DY, Eland ‘F are sitting around a round table. ‘C’ is not i cither of the neighbouring gearq
. , L . . ’ (% wl . Yy 1o H + :'?
of “E". *A" is between ‘E’ and *F’ and ‘E’ is opposite to ‘D’. Who is opposite of ‘I
A% B "CL DY, B TR U AT et 3 = i 4 ) 4, B 3 anrer ) kel el e WA A
E’ 3T 3 wer 331 2 auT B’ D’ ¥\ A1 ) ‘F* % WA A AT 0
(A) A (B) B
€ cC (D) D
(E) " Question not attempted / ST W

In a row of children, Geeta is fifih from the left and Praveen is twelfth from the right end . If Praveen shiftg
by three places towards Geeta, he becomes tenth from the left end. How many children are there in the row?
aﬁ*iﬁ@ﬁﬁﬁﬁ,rﬂmmﬁtﬁtﬁﬁﬁmm% ST sreftor arfet B & srredt zamr e ) afe seftor, sfterr 6y i
mmmmﬁ,ﬁwaﬁﬁﬂm&wmmmm Ul % et forert ey o

(A) 20 (B) 22

(€ 24 M) 26

(E) Question not attempted / 3fgwifta wor
Rakesh is son of Aman’s father’s sister, Son

u is son of Disha who is mother of Gopal and Grandmother of
Aman. Aarav is father of Tanya and grandfat

her of Rakesh. Disha is wife of Aarav,

How is Rakesh related 1o
Disha?

(A) Grandson (B)  Niece

(C) Nephew

(D)  Cousin
(E)  Question not attempted
mm%ﬁaﬁnaﬁrmwgﬁl a’l@ﬁmmgﬁwﬁﬁwzﬁrwsﬁﬁ S ST 6 =1t 81 a1 v
Foarsft s ardber 35 e 3 TS 6 aeit oo ) wdwr =

Feeam 2 ar whsir 29
(A) T ) (B)  wifisft (
(C) TSIl (eftsm) (D) == s/
(E) erqaftawg
Select the camel breed known to have excellent SWimming capacity in scawater,
(A) Malvi (B) Jalori
(C) Kharai (D)  Mewari

(E)  Question not attempted

&ﬁmmﬁgﬁqﬁnﬁﬂgﬁmﬁﬂﬁzﬁmmﬁmm
(A) et (B) S
©) g

(B) raftauy
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A person is having symptom of severe weakness and is diagnosed with ‘Beriberi’. Which of the following

&0
! vitamins would be supplemented through medicine and diet?
(A) Vitamin A (B) Vitamin B
() Vitamin C (D)  Vitamin D
(F)  Question not attempted
sl ST A 1 o g & e apror R o v s ) P i & e
0 HTET A TaT N GF w9 7 fyy s
() Fefy ®) frefmad
© faafvd (D) e
(F)  Irqafa wy
51 Red blood cells of which of the following blood groups contains both A and B antigens?
o 1 41 o et T ot wrer o i fRremrait 3 A o B 2T s (S OIS 82
(A) A (B) B
(©) /AB (D) O
(1) Question not attempted / FFARA w1
52 A sum of money amounts to ¥ 6,690 after 3 years and to T 10,035 after 6 years on compound interest.
Find the sum.
U AU s st @ o7 ant a6 T 6,690 T 6 6T 3 YT T 10,035 B ST 2, AT HE STHT T 16
(A) Y4400 (B) T4,460
(C) T 4,900 (D) ¥ 5,000
(E) Questionnotattempted / 3T 4
53 The price of a gold-biscuit is directly proportional to the square of its weight. A person broke down the
gold-biscuit in the ratio of 3 : 2.2 L'in terms of'its weight and faced a loss of ¥ 4,840. Find the initial price of
gold-biscuit.
Y 2 e foregpe it ST I NI H T 6 G B) U sl gw @ F e @32 1 % 3191 ¥ drgar
2 af qrar 2 fir 38 7 4,840 1 1 B W R1 W F e Y wifis fime s ay
(A) T 7,000 (B) 7,200
C) 79ee (D) T 8,000
(E)  Question not attempted / Wﬂﬂgﬂ
54 The percentage profit eamned by selling an article for ¥ 1,920 is equal to the percentage loss by selling the
same article for T 1,280. At what price should the article be sold to make a profit of 30%%?
ot g a2 1,920ﬁaa‘lqtarﬁhamamrﬁmaﬂtaﬁz 1,280 & =1 7T @i m witerar e e 2 SRS
3 ey sy ST S o 30% Y T B H7
(A) 22,000 B) €100
(©) 72,080 (D) T 3,500
Tio ]{E_)ﬂ: Question not attempted / aﬁaﬂ'ﬂ bl - -
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64 There is certain relationship between the two terms 1o the left ofesfand the same relationship exists bctwpen

'__‘hc two terms 1o its right, Find which option would replace the q@;uon mark?
-y A AR ST ) Wl 3 e e e R i I mmmmz@aﬂt%aqﬁ%mm woaTEE 9 ¥ o

mﬁﬁmmmml o
CN24: 289 :: 2561 7 ™
A) 125 B) 200 &

C’) 225 (D) 361
L) Question not attempted / 37 |
65  Find the number of tri

'ﬂ%

g pair ;I" g Ilspla&ment reacnon?
ind ¢ mrlﬂ lg]l I Ag}

“hoose the most appmpr!are inglish translation of the given scmwe

vAA) s casy 10 find faults (B)  Faults can’t be cusily_fq_und'

(C) It has been easy 1o ind faults (D) I's very casy to find faults
() Question not attempted g
119)] Jdb 16 [ P.T.O.
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A
69‘.\\ Choosc the most appropriate reported form of the given sentence:
" He said, “Don’t walk onsnow. It isn't safe.” pod
"\(A) He warned us notito walk on snow as it wasn't safe. e
(B) He said to us not Wilk on snow for it isn’t safe. e
(C) Hetoldus that it is.not safe to walk on snow. _
(D) He warned them hotv unsafe it was to walk on snow. :’
(E)\ Question not :mcr:np:lcd :"j
70  Choose the most appropriate form of the verb to fill in the blank: "“'I;
The passengers in the waiting room are restless after the announcement that the train T late.
(A) runs ) (B) was late
(C) was running ed (D) is running e
(B) Question not attempted oy
71 Identify the grammatically most appropriate sentence from the options: e
(A) Inaweek’s time L will complete my work. -
@) In a week’s time Lwill have completed my work. o
(C)  Inaweek’s time I will be completed my work. 0
@1 In a week’s time Twill be complete my work. o
(E)  Question not attempted ot
72 Match List-1 with List-11
List-1 (Country),. List-I1 (Capital City) o
Mauritius 3 i Victoria oy
Seychelless 1) ii.  Jakarta £85
Maldives o iii.  Port Louis {,“’1
d Indonesia 3 iv.  Male Lo
&ell-| =1 firer geft-1n S hifs N
gI@Em D ' FEft-11 @ 9TEv) o
a T 1 e AL B T Cc i | i
b, Avew Wi | i S
3 e th t-' il ché@%ﬂ' r__i
: R iv. W= &y
H__,_sc the most approﬂﬁ?ﬂe option from below: m
(A a-i, beii, c-iii, d-iv* (B) a-ii, b-iv, c-i, d-iii (o
-iii, b-i, c-iv, d-ii*, (D) a-iv, b-iii, c-ii, d-i N
uestion not attelmed / ﬂﬂﬁﬁﬂgﬂ ch -
than State Allied ahd Health Care Council is constituted under i
) Nutional Allied and Health Care Profession Commission Act - 2020
B ional Allieds “{'Health Care Profession Commission Act - 2022 v
lational Allied and Health Care Profession Commission Act - 2021
tional Allied a@i[-lealth Care Prolession Commission Act - 2023 3
thﬁg%mwmﬁmm%mﬁmw%h g}
v IR _
_ W@WWWW-EOZU o
! .Wzﬁgﬁamﬁmwﬂmw-znzz e
Y TS UE B YT A VAL - 2021
B ol ST g RedtT ST 19 Uae - 2023 ‘
M ¥
st v 17 [ P.T.O.
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Yhich City was; the venue for the international AYUSH Conference and Exhibition 2024?

(h)  Hamdon, UK (B) Mumbai, India
(Cy  Dubmi, UAE (D) New Delhi, India

f1y  Cuestion not attempted
L‘a\aﬂmﬁztm?ﬁjm S (A USH) Heirer 7 gz 2024 78 4

(A) o4, % (B) Y, ava
() ekt (D) h faeeh, wma
(1y  svgien

The first satellite la

(Ay NG
()
(v

(1)

79 faeferfiga 1 <o w193

syl wist aed %
(A)  dwtt
() wqu

't

A

(A) " (B) ameE
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Indira Gandhi canal is situated in which of the following regions of Rajasthan?
(B) Western Desert plain Region

(A) Semi dry Region
(D) South Eastern Region

(C) Aravali Region
(E) Question not attempted
gﬁ’nwiﬁrmmw%ﬁﬁ%ﬁaﬁﬁﬂﬁma}iﬁmfmaiw

(B) it wewuefia A &

(A) I o &
(C) FTadm &7 (D) afior gaff &
(E) uita ¥4

The moist deciduous forests are not found in which of the following regions of India?
(B) Northeastern States

(A) Foothills of Himalayas
(D) Peninsular plateau

(C) Eastern slopes of the western ghats
(E) Question not attempted

T 5 e § & foeg & 1 o112 wofardt a9 7€ arg SITd €2

(A) Teurem i firiug (B) IwugH a=al
(C) Uil |12 & gai s (D) WIFEIYT 93K
(E) gafaud

Which of the following is known as the oldest museum of Rajasthan?
(A) Abhar (B) Amrapali

(C) Albert Hall (D) The Crystal Gallery

(E) Question not attempted

Frefefad T & 5T TseT % T=HaGT GUeled & &9 3 STHT ST 87

(A) #ES (B) AT
(C) FHEH (D) foreee el
®) R

Kolleru lake is situated in which of the following states of India?

(A) Odisha (B) Rajasthan
(C) Andhra Pradesh (D) Tamil Nadu
(E) Question not attempted

FTeI% Ziel 9 & ETiEd 8 9 [ Usg 9 89d &7

(A) &tz (B) US#gH

(C) =ZTFFE (D) g
(E) &I 9q

A person with blood antibody B can recieve blood from the blood group of:
(A) AorOonly (B) BorOonly
(C) AorBorABorO only (D) Oonly

(E) Question not attempted

v zife o 7 1 B afaveh 8, fam o s 01 oo @ wamar 9

(A) FAAATO (B) FG@TBUTO
(C) #AA ATIB FIABAIO (D)  &daET O

(£) #Agaftm g
[ P.T.O.

youtube link

e N e e e


https://www.youtube.com/live/aVXNPzoCVAs?si=l2MnHZgH18uDOr_K

i

o0 Wmmeorﬂmfonowingisﬂxsmmuf i .

(A) Deodar
() Robida
e

91 Whichof the following is ¢

(A) Tsb+0
(©) ar+o
(E)  Question ng
Which of the follo

e

(B) Khejri
(D)  Saal

(D) ==

.{""mwm-d_
(A)  Aberrnens
©)  Abolishmen: B)  Aboterne,
21
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i i RS -
j2 In the given figure, if PQIRS, ZQPE=128° 44 ZPER=14g°

s th :
fegmyfr 8,7 PQIIRS, £QPE=128°w3 4 prp_ en £SRM is equal to:

P Q 148° Tt ASRMEUE'(%:
128°
ED148°
M

(A) 88°
(E) Questitm not att
103 The area of a triz

©)

104 1f ¢

1 stio
"1 V80 + 642

106 .
What 1s the difference of Median and

R e et e o vt g

99"’ 94,52, 68, 80, 94, 52, 65, 87, 90, 70, 52
© 29

; () " Question not attempted / ST W1
19 | %}: 23
i youtube link
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107 Meja dam has beenbuilt on which of the following rivers of Rajasthan ?
(A) Parvati - (B) Kothari
(€) Javai g (D) Mahi

(E) Question not attempted
Freffiad § & e 1 T e 9 A1 A A T
@A) wE O ®)

19290501

(A)
(B)
(©)

(D) *Yours respectf ormal lg'cr
(E)  Question no{%}wmptz ; ™
111 Choose the maost appropriate word to complete the given sentence: o)
The boy crawled v the fence to enter the garden. i
(A) above ' (B) out
(C) under (D) near
(E)  Question not attempted
T19 ] + : 24 | P.T.O-
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112 Inacertain code, *he made good money" is written as *1465°, ‘he must be good’ is written as ‘9421°, ‘must
NIVE Some money” is written ng 9876, ‘be good save grace’ is written as *2483°. Which of the following is
the code for ‘some'?

(i fafame w3 e made pood money' ) *1465° RrEr A}, e must be good" 1 9421 T AT 2,

"INUSE SAVE SOme money! Tlﬂ "O876" ferar s &, ‘be good save grace’ @ *2483° forar st 21 ‘some’ & fere
fevsstfenfrer 3 @ v - wiys gy v

(!\] O ¥ " (B) 7 i i
() 8§ I -

(1) Question not nllc% ted / algwfm M

13 What will be the next pt ber in the following series? o
frwferfiam Sof 3 oy w1 Enfly )
3, 10, 20, 39, 85,9
(A) 212 @) 112
© 99 i, (D) 101 r:,'
() Question nol nll%ﬂlcd / Cﬂ‘jﬂﬁa s a.?]
114 Spirulina is a good souree of- e
(A) Pt (%)) (B)  Vitamin C h
() Carbohydrate o (D)  Protein N
() Question not atteipred T
HIEEET areT W f. il
(A)  aurw B) ferf c e
©) b vi (D) W= Il
(F)  Srafags O %
Ny
1S When nir in between lhléalulcs of'a capacitor is replaced by mica of dielectric constant 4, its capacity -
(A)  remains unaffectéd) (B)  reduces to -}'h "::}
(C)  becomes 4 limcsg"" (D)~ beeomes 2 times ‘Eh
() Question not attempted r
ﬂﬁ:ﬁmﬂaaﬁrqﬁﬁﬂ;tﬁaﬁmﬁm.ﬁmmgaﬁwm4 &, A aoet Rar sy ay BTG it yrfay
(A smfaffaRd B) < 5,*
©) 47 s B D) 27masmft g
(E)  srafrwy o ' :')».
16 Who is known as the ﬁll. rof the Indian space programme? Y|
(A Dr. AP J, Abdul Kalam (B) Dr. Homi Jehangir BT?nbhn
©) " Dr. Sutish Dhawdn? (D) Dr. Vikram Sarabhai
(E) Question not ullcmgiatcd _-' L
eta stafunr g s w9 i @ e o
W) ¥t v 31 srsger v (1) i, &l ol sy
as ) - )
© w w5 I N
1o, ) SEafauy O )
11'] ‘ Hﬂ ‘}1\ 25 F 'l l P-T.O.
Vv i
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is the Shortcut key that hides the selected columns in Fxeel,
it & vaer i =t Frem @ foard )

(1) Alt+ 1l

(D) Ctrl + 0 (Zero)

(A) Shift + F10

(C) F2

(E)  Question not attempted / 313_?1‘&?1 oA
118  Which of the following statement is NOT true about the di

(A) Left Alignment-All the lines of the paragraph will be aligned on the left

(B) Center Alignment= All the lines of the paragragh will be aligned to the center
(C) Right Alignment- All the lines of the paragraph will be aligned including on the right

(D) Justify- The only lefl side of the paragraph will be aligned including the last line.
(E) Question not attempted
ﬁwﬁ%aﬂwmmﬁﬁmm%mma@mﬁeiﬁ T T we A Bi-

(A) mﬁwﬁﬁmgﬁaﬁmﬁaﬁiwafmm@ﬁ

(B) mwﬁzmgﬂzﬂmﬁaﬁﬁmwﬁmﬁrﬁ

(©) aﬁm—aﬁzﬁwmﬁa‘ﬁﬁaﬁwﬁﬁmﬁrﬁ |

(D) aﬁwﬁa@zﬁﬁﬂmm@ﬁm#ﬁmﬁmﬁaﬁﬁﬁmﬁaﬁwﬁﬂ
(E) 3gaia

119 “Pivot Table™ is a feature of
(A) Microsoft Excel
(C) Microsoft Access
(E)  Question not attempted

ﬁmﬁ@r%ﬂtﬁqﬂéﬂtaﬁrwﬁm‘ﬁmm'%?
(A) HTGHIETHE TR (B)  WEHETRZ AL
\ grEseraTe wEd (D) HTEERIETE a2

fferent types of M5 Word Alignments?

which of the following software?
(B) Microsoft Word

(D) Microsoft Powerpoint

(E) gaia ¥
120 The Balwant Rai Mehta Committee was set up for the purpose of-

(Choose the most appropriate option from below:)
(A) Investing the adequate financial resources of the village panchayat

(B) Suggesting measures for democratic de-centralization

(C) Reporting on the working of the village panchayats at that time
(D) Suggesting measures for better efficiency in the implementation of the community development

projects
(E) Question not atte mpted

aaéamﬁzmaﬁﬁrﬁﬁr%ﬁaﬁﬁﬁﬁmaﬁmﬁwrﬁﬁaﬁweﬂ? (ﬁqﬁﬁﬁﬁﬁmmﬁmiﬁ}
(A) mﬁmﬂff%whﬁ?ﬂﬂdmﬂﬁwﬁﬁmaiﬁ&?%q ”
() i R 3 g A & fu
(C) < T T T i et < fre &9 % fog
(D) a@aﬁwﬁﬁmmﬁaﬁﬁmmémﬁ%ﬁwa%m

(E) a4
121 Which of the following parts is related to the Directive Principles of State Policy

T 3 ife s fergial @ foer & @ i-ar am areftg wfaum & waifaa 2

in Indian (‘unsliluliun‘.’

(A) 1V (B) V
(C) VI (D) IV-A
(E)  Question not attempted /Zﬂﬂ'ﬁfiﬁ 4
T19 ] zﬂ_—_. 206 I P.T.0:
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122

m
1

1%

Iy

iy
Tl 91 Wﬂ"mﬂ K]

i

The words *Socialist and Seculor® were added to the Preamble of the Indian anqtilution by:
() AL nmcnﬁﬁnl M) 42" amendment ¢

(€) 44" amendment D) 468 atssndinent !;'l

(1)) Question niofinttempted M

::t)“ *4‘: I:ulq ﬂ’m “SOCIH"SI" m mt "SCCHIHI‘" (‘T‘fﬁﬁ{%}ﬁm mmmw
() a4t waingg, - 2 ::

ST i

(F)

CONCEPT

Academy

L — 13

Udaips

(A)

() Question not atte

el 8 * [ RRVICE Y
) apqnfre y pg
i st i iy forwiv fafomy N
S K L M) g v
©) yiafm A ()

-lzga 27 _ ”
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129

133

(A) st (B) aIHd
© = (D) FHATH

A
©
(E) :
Dadu Dayal was born ¢
(A) Nagaur ' 0
(C) Kota = (D) Ahmedabad
(E)  Question not attempted :

T 7T T ST AT T, %

(A) drii @) iR
(C)y weri (D) arewEmaE

(E)  srfm s

T19] b | 28

[ P.T.O.
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134

135

136

137

138

\

v aven I i at Noem Ka Thany!
discoverad at the SOURR 0T ANV Kantali at Noem Ka Tha

Which Sit€ of copper cuinTT was g
a) G (D) Ahar
(C) GaoesBWE 3
;on pot arempl

gmgm:ﬂ;mwmﬁ%mﬁmamtﬂ? UERIN
a) By W
(©) THET (D) NS
f;mﬁfrjmng kings of Kamboj has created four seriptures of total 326 Paragraphs?
(A) Bahuvarman (B) Yashovarman
(C) Rajvarman (D) Jayvarman

estion not ted .
S;%gaiﬁmm;%wﬁgﬂ 326 S 35 ORI T
(A) g (B) TwEHA
(C) T (D) S
(E) Jaiea =
Which one of the following west flowing rivers has the largest catchment-area?
(A) Mahi (B) Periyar
(C) Sabarmati (D) Bharathappuzha
(E) Question not attempted
frefefiaa & @ i € 9iEy 6 S e Tl A T HER g1 SIeTEvl-8 87
(A) ®rE (B) ufEw
(C) @l (D)  NEAYEH
(E) 3aia s '
Mushroom rocks, shifting dunes and playas are features of which of the following regions of Indin?
(A) The Island (B) The Constal Plains
(C) The Indian Desert (D) The Peninsular Plateau
(E)  Question not attempted _
o7 dieT, T YT et SR oA W & fpferfiaa 3 § fer NEEARENLGILA Y
(A) @9 (B) @ NH
(C) Wty weedet (D) AR Y3

(E) gt 94

Kanchenjunga peak is situated in which of the following regions of Himalayas?
(A) Darjeeling and Sikkim Himalayas ' (B)  Arunachal Himalayas
(C) Himachal and Uttarakhand Himalayas (D)  Kashmir Himalayas

(E) Question not attempted

Fast et e % FrefaRa 3 & g & & Rua &2

(A)  zrfSifer 3ik fafer femrea (B) aveumae fewrery
(C) femraer 3ik suwEs fewrerd (D) e femrer
(E) srafawa
,Tlg] F 22 [ PT.C
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139 Freiferfiae i foit aredt a7 il 8-
- 1ot

(A) eE - qhE ) T

(C) TELTY (D) - wai -

() Sraha u !
140 ﬁﬂ%ﬁaﬂﬁwmmaﬁh- i)
(A) gﬁ (1) ;ﬁ; )
(C) W (D) N}

) oo
141 Choose tl}_c_{nosr S}
.

A portable ca
142

nal life.

Acader:y

Udaipuer i

() A
(c) wEAs
(E) watra 94 -
146 Which place of Sikar is famous f0 o
(A)  Khidor B) Piprali i
(C) Nechwa (D) Khandela P
(E)  Quebtion not attempted I
i 51 AV 31 v viven zei % fow ufea 27 N
)  fomareht o)
(D) e 4
30 |P.‘l‘.0-
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Where is Dhirubhai Ambani Solar Park looated?
147

A) Kota (M) Dhuesar
( ' % i
(C) Suratgarh (D) Kavai
(E)  Question not attempted

mmﬁtwmmﬁm‘%}

(A) I (B)  yuw
© T )
(B) rafe wy

148 Which of the followine ; major coal-based Thermal Power Plant in Rajasthan®
(Choose the most appropriate opti
(A)  Chhabra Power Plant

(B)  Kota Thermal Power Plant
©) Suratgarh Power Plant

(D)  Kalisindh Thermal Power Plant
(E)  Question not attempted
ﬁ%ﬁ%mmmmmwmmmﬂamﬁgamﬁr
=i mawgmﬁmaiz)
(A) o for gy (B) @amﬁgﬂﬁ:
©) T feg v () eifer ame e e
(E) i wsy
149 Which of the following regions of Rajasthan is benefitted by Gurgaon Canal Project for irmigation?
(A) Bharatpyr (B) Jaipur
©)  Kota D)  Jodhpur
(E) Question not attempted X
TS 3 ﬁ%ﬁamﬁmmmﬁﬁaﬁmmﬁmm
(A) g (B) SRR
©) ey (D) Shug
€) gy
150 What s ‘DIGGY’ construction?
(A)  Anew agriculture method
B) A technique of Hand Loom
(&) Operation for restoring surplus water for field crops and agriculturg) aCtivities in cang| command area
(D) Construction of pipeline for irrigation
(E) " Question not attempted
“Tenft fimtor a9
(A Ffa 6 v 78 wefy
(D) Ferwavd 2 foru, rgwenresr a1 Frwion
(E)  wrafm uy ”
19| ol i
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